Writing in Standard Form

Decide whether each of these numbers
is in standard form.

(@)l 102 (b))l 435! 108
Q6.5 105240 (d)ini0:93 x 408
(e) 8x10™ () 9.99x 10!

Write these numbers in standard form.

(a) 3000 (b) 900000
(c) 60 (d) 87000000
(e) 789000 () 25
(g) 0.0009 (h)  0.005

| © 0.03 G)  0.000082

| (k) 0.0273 0 0.79
Write as ordinary numbers.
(G210 (b) 7 x10°8
EENBE 1072 ' (d) 1.2x107
e 46102 (f) . 7.05x 107
(@BOCA103° " (h) 7 %1072
s 1077" () 3.1x1073
(OE5 4 <10 ()  6.53x1078
(m) 1.85x107%(n) 3.216x 10°

Convert each of these numbers into

standard form.

(@ 25x10* (b) 870x103
(c) 06x10° (d) 60x1073
(EME095 108 () 0.05 x 1075

Write each of these scientific numbers in
standard form.

‘There are between 100 billion and 400
billion stars in our galaxy. The milky way
galaxy is 13.51 billion years old. '

(q\ Nes (\O> No
(c)Yes (d) No
() No (£) Yes

@) 3o lido) A ioP
() 6ol (d) ‘8-—l><\OKD
(e)78axI0°(F) 2:5%10
(ayaxio (h) 5x1073

65 A2 ({R2 41078
(KB)_-‘!S»(\E)ZO R lom

-

() 200000 (b) T70DODOOVO
(<) 8OO (A 12000000
(&) 36000 @0 705
(a)o-o0oed () ©-07

)\ 0.0000005 (J) 0003
(K) 0.0 544 @) Q.06 53
(m) 0-185 (M) 3.216

() 2.5x10° (b)BTx10°
(&) 6x10*  (d)bx1072
€Y axio (F) 5xio7!

100 llion = ’\x’\DM
Aoo bl\lion = A—x'\()‘M

13.51 billion = 1-351 »4’\0\O



